Orbit displacements at synchrotron light and correctors due to local 3-bumps


N  
L 

NAME 

X[cm] 
Y[cm] 
Px[mrad] 
Py[mrad] 
Bx_ef[kG] 
By_ef[kG]

1386 95679.44
kVDB47
0
0
0
0
0
0

1431 98531.79
kHDB48
0
0
0
0
0
0

1479 101734.59
kVDB49
6.12163e-27
9.99328e-11
1.22433e-19
0.00199866
6.12574e-13
10000

1480 101734.59
kHDB49
9.99328e-11
2.99798e-10
0.00199866
0.00199866
10000
0

1527 108318.97
kHDC11
0.009737
0.0152271
-0.00206654
0.000735054
-9291
0

1528 108318.97
kVDC11
0.009737
0.0152271
-0.00206654
-0.000633026
-4.19307e-13
-6845

1532 108387.44
isPSYNC
0.0095955
0.0151837
-0.00206654
-0.000633026
0
0

1546 109639.66
isPBSYNC
0.00700233
0.0143984
-0.00207524
-0.0006197
0
0

1574 111130.88
kVDC12
0.0039869
0.0132083
-0.0013132
-0.0031146
0
0

1618 114143.32
kHDC13
5.30855e-07
0.00418526
-1.09435e-07
-0.00140247
7109
0

1661 117117.66
kVDC14
2.20676e-07
-3.27357e-07
-2.39993e-08
-8.01672e-07
4.6182e-13
7539

1704 120094.55
kHDC15
1.37253e-07
-2.90747e-06
-8.16151e-08
-1.7781e-06
0
0

Note: 

1. Figure shows the shape of closed orbit 3-bump (horizontal-red and vertical-green), correctors and synchrotron light positions.

2. HDB49, HDC11, and HDC13 had been used for the horizontal 3-bump at C11. The orbit displacements at synchrotron light (X_p and X_pbar) and at HDC11 (Xbump) are related by:

X_p = 0.9855 * Xbump

X_pbar = 0.7191*Xbump

3. VDB49, VDC11, and VDC14 had been used for the vertical 3-bump at C11. The orbit displacements at synchrotron light (Y_p and Y_pbar) and at VDC11 (Ybump) are related by:
Y_p = 0.9971 * Ybump

Y_pbar = 0.9456*Ybump

Orbit displacements at flying wire and correctors due to local 3-bumps
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N  
L 

NAME 

X[cm] 
Y[cm] 
Px[mrad] 
Py[mrad] 
Bx_ef[kG] 
By_ef[kG]

4532 
308341.83
kD48HESEP
0
0
0
0
0
0

4582 
311174.11
kVDD49
6.12163e-27
9.99328e-11
1.22433e-19
0.00199866
6.12574e-13
10000

4583 
311174.11
kHDD49
9.99328e-11
2.99798e-10
0.00199866
0.00199866
10000
0

4665 
317231.49
isIHFWE11
0.0113988
0.0125125
-0.00496728
0.00782979
0
0

4667 
317253.08
isIVFWE11
0.0112916
0.0126816
-0.00496728
0.00782979
0
0

4682 
317758.49
kHDE11
0.00973742
0.0152271
-0.00206602
0.000735054
-9289
0

4683 
317758.49
kVDE11
0.00973742
0.0152271
-0.00206602
-0.000632426
-4.19123e-13
-6842

4726 
320570.41
kVDE12
0.00398707
0.0132111
-0.00131323
-0.00311447
0
0

4768 
323582.85
kHDE13
5.87434e-07
0.00418862
-3.43535e-07
-0.00140319
7108
0

4811 
326559.73
kVDE14
-4.63354e-07
-3.07384e-06
-4.87909e-07
1.8006e-07
4.62616e-13
7552

4853 
329534.07
kHDE15
-1.77823e-06
-2.7394e-06
1.91241e-07
-8.06079e-07
0
0

Note: 

1. Figure shows the shape of closed orbit 3-bump (horizontal-red and vertical-green), correctors and flying wire’s positions.

2. HDD49, HDE11, and HDE13 had been used for the horizontal 3-bump at E11. The orbit displacements at flying wire (Xfly) and at HDE11 (Xbump) are related by:

Xfly = 1.1706 * Xbump

3. VDD49, VDE11, and VDE14 had been used for the vertical 3-bump. The orbit displacements at flying wire (Yfly) and at VDE11 (Ybump) are related by:

Yfly = 0.8328 * Ybump
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